
~

20.24''

514mm

L1

32.05''

814mm

43.86''

1114mm

67.48''

1714mm

91.10''

2314mm

2ft 3ft 4ft 6ft 8ft5ft

L

23.86''

606mm

35.67''

906mm

47.48''

1206mm

71.10''

1806mm

94.72''

2408mm

Installation Instructions

Read Instruction manual carefully to ensure proper installation.

Please keep this instruction manual for future using!

     WARNING

To avoid the risk of fire,or electric shock this product should be installed,inspected,and maintained by a qualified electrician

only.Installation should be completely by an individual familiar with the construction and operation of the luminaire.Installation of

luminaire must be in accordance with nation and local building and electrical codes.

Safety Warning:

To avoid electric shock:

Be certain electrical power is OFF before and during installation and maintenance.

Luminaire must be supplied by a wiring system with an equipment grounding conductor.

To avoid burning hands:

Make sure lens and housing are cool when performing maintenance.

To avoid product degradation:

Make sure the wire supply voltage is the same as the luminaire supply

Use proper supply wiring as specified on the luminaire nameplate.

Avoid use in environments containing sulfur,chlorine,or other halides,methyl acetate or ethyl acetate,cyanoacrylates,glycol

ethers,formaldehyde or butadiene.

Notes:

Instructions do not cover all details and all possible product configurations.

Do not restrict luminaire ventilation.

Ensure LED luminaire is not covered with material that will prevent convection or conduction cooling.

Ensure LED luminaire has the correct polarity before installation

Avoid exposing wiring to metal edges and sharp objects.

Maintenance:

Perform visual,electrical,and mechanical inspections on a regular basis.The environment and frequency of use should determine

this. However,it is recommended that checks be made at least once a year.Electrically check to make sure that all connections

are clean and tight.Mechanically check that all parts are properly assembled.

!

Installation Dimension(suspended)

SUSPENDED MOUNTWiring Diagram

Surface mounted Dip switch for CCT &

Wattage Selectable Switch

L

L1 

LED Linear Architectural

55.67''

1416mm

59.29''

1506mm

L2 for bracket

12.76''

324mm

L2

24.57''

624mm

36.38''

924mm

60.00''

1524mm

83.62''

2124mm

48.19''

1224mm

Canopy B

Anchors

Ceiling bracket

Washers

Mounting screws

Aircraft cable coupling

Aircraft cable

Aircraft cable gripper

Aircraft cable gripper

Aircraft cable

Power cable

Aircraft cable coupling

Canopy A

Strain relief

Mounting screws

Washers

Ceiling bracket

Anchors

Supply

White

Black

Ground

 Electrical

Disconnect

White

Black

DIM

Red(+)

Black(-)

Gray(-) Pink(-)/

Low Voltage

DIP switch

Driver

Wattage Selectable

Switch

LED STRIP

追加LED STRIP

Red

Black

Blue

DIP switch

Wattage Selectable

Switch

T-BarDrywall

2462 E 28th Street, Vernon, CA 90058 USA 1/7



lense 

open toolX1

How to change 
lense or metal sheet

Draw outDraw out

Keep the 

A)Use the tool to take the optic or the opal lense out

M4*8

Draw out①

~

!!

②

Draw out

A)
Use the tool to take off B)

Push the metal sheet or
lense down

DIP Switches
 Adjustment

Draw out

O
N

1

O
N

O
N

1

O
N

O
N

1

O
N

O
N

1

O
N

B1

A1
A2

B2

Section 1

Section 1

Section 2

Section 2

O
N

1

O
N

O
N

1

O
N

A3

B3

Full Optic

A

B

ON

1

Lense Metal Sheet

1

1

ON

1

ON

1

1

1

1

1

ON

1

ON

ON

1

ON

B
1

A
1

ON

OFF

ON

A
1

1

Set the dips of each section as below, 
the adjustment of each section changes
 along withthe lense changes,
e.g.:section under the PC lense should 
adjust the DIP to ON Stop,and B DIP to
ON Stop. 

A1 A2...=A type
B1 B2...=B type
Make sure the optic section 
is correctly placed on the 
designated position and not 
to slide or move

!

~

B)Take off the gear tray for the LEDmodule by unscrew the M4 screw total 8pieces

Installation Instructions

LED Linear Architectural

2462 E 28th Street, Vernon, CA 90058 USA 2/7



A)
Install the housing at desired

locations using the anchors,screws
and washers.

B)Reinstall the optic or the opal lense,done.

Surface Mount:

  screws 

M4*25   X2

Anchors  
  X2

Washers  

  φ4*12   X2

T-Grid Ceiling

T-Bar clips A
 X2

T-Bar Nut
X2

T-Bar clips B

T-Bar screws
X2

 X2

D)Put the T-bar
screws into the holes
of the clips.

F)Pull down the latch on
the clip.

①

E)After attaching T-Bar
clip A to the main runner,
proceed to secure T-Bar
clip B on top.

②

Thread the safety rope 
through the hole on the clip.

G)Make a notch in the main runner to facilitate
wiring, and then secure the housing.

X2

X2

X2

X2

Washers
H)Reinstall the optic or the opal lense,done.

  X2

A)status before shipment
B)Tighten the T-Bar clips AB to
displace them for the installation

①

②

Displace

C)Loosen the T-Bar clip B
and remove it.

①

②

X2

Surface Mount With steel clips

M4*25 X2

Anchors  

  X2

Washers
φ4*12  X2

X2

A)Install the steel clips at desired locations
using the anchors,screws and washers. Here shows how to install the steel B)Make the wiring and put the

steel clips onto the housing. clips.

Steel clips  
  X2

Installation Instructions

LED Linear Architectural

2462 E 28th Street, Vernon, CA 90058 USA 3/7



Suspended Mount

X2

Steel clips

  X2

X1

Screws

M5*12 X2

Washers

φ5*12  X2

Nut
  M5*3  X2

Anchors

Ceiling bracket

Washers

Mounting

screws

Canopy A

Strain relief

Canopy B

Aircraft cable

coupling

Aircraft cable

Aircraft cable

gripper

Suspension cable kit A
Suspension cable kit B

X2

D)Make the wiring.

X1X1

X2

A)Install the ceiling bracket and ground
wire

B)Install the canopy anGmake wiring.

C)Install the steel clips with Aircraft cable

gripper anG screws,washers and nuts.

Provided by the customer
       Wire clip tool  X1

Wire clips7
N-2  X1

Ues the wire clip tool to secure the wire 
clip.

X1

Installation Instructions

LED Linear Architectural

2462 E 28th Street, Vernon, CA 90058 USA 4/7



ELECTRICAL CONNECTION

A)Remove the end cap.

Screw

B)After attaching the
connecting plate to the back
of one end of the housing,
then flip it to the front.

M4*8  X1

C)Install the screws to
connect two fixtures.

E)Secure the

screws on the

back of the 
housing.

Screws
  M4*12 X1

Draw out

The removed screws
  M4*8X3

Draw out

X3

  Nut

M4*5  X3

Screws
  M4*25  X3

SCREW!

SCREW!

②

slide in

①

Connecting plate
X1

②
①

③

Here you can slightly flex the lense first, then it 
will be easier to snap it into the housing.

F)Reinstall the optic or the
opal lense,done.

Disconnect

!

Disconnect

!

Disconnect

INPUT D)Make the wiring.

The wire needs to pass 
through the in

The wire needs to pass 
through the inner end cap.

ner end cap.

Installation Instructions

LED Linear Architectural

2462 E 28th Street, Vernon, CA 90058 USA 5/7



Track Head Base Installation

The removed 
  screws B
  M4*8  X1

The removed 
  screws A
  M4*8  X1

D)After attaching the connecting plate to
the back of one end of the housing, then flip it to the front.

B)Remove the screws from
the base mounting plate.

Draw out

C)Remove the end cap.

  Nut 
M4*5  X3

Screw 

M4*25  X3

Screw
  M4*12  X1

The removed 
  screws B
  M4*8  X1

The removed 
  screws A
  M4*8  X1

F)Make the wiring.

E)Install the screws to
connect two fixtures.

G)Secure the screws on

the back of the housing.
H)Reinstall the screws for the mounting plate and
the base screws.

Draw out

A)Remove the base screws.

Draw out

Draw out

X3

Connecting plate
X1

Screws
  M4*8 X1

SCREW!

②

slide in

①

The removed 
  screws B
  M4*8  X3

SCREW!

Installation Instructions

LED Linear Architectural

2462 E 28th Street, Vernon, CA 90058 USA 6/7



Recessed Mount(Mud-in)

L

 
(

±

3

m

m

/
±

0

.
1

9

'
'
)

W

 

(

±

3

m

m

/

±

0

.

1

9

'

'

)

Opening dimensions

!

Screws
  M4*8

A)Install the Plaster-in Trimless
Recessed Extrusions.

Screws
  M4*25

Anchors 

Washes
  φ4*12

B)Install the housing into the ceiling. D)Make plaster to the
ceiling.

2ft

24.37''

619mm

L

3ft

36.18''

919mm

4ft

47.99''

1219mm

6ft

71.61''

1819mm

8ft

95.24''

2419mm

5ft

3.27''

83mm

W

Recessed Mount(Aluminum Frame)
From Outside to Inside(For Main Runner Ceilings Only)

Screws 
M4*8

!

Screws
M4*50  X2

C)Install the U-shaped bracket.

L

 
(

±

3

m

m

/
±

0

.
1

9

'
'
)

W

 

(

±

3

m

m

/

±

0

.

1

9

'

'

)

Opening dimensions

D)After recessed into the ceiling, access the adjustment
screws by going around from the side to the back.

2ft

L

3ft 4ft 6ft 8ft5ft

3.27''

83mm

W

2ft:10PCS

3ft:10PCS

4ft:12PCS

5ft:16PCS

6ft:16PCS

8ft:20PCS

2ft:6PCS

3ft:6PCS

4ft:8PCS

5ft:12PCS

6ft:12PCS

8ft:16PCS

2ft:8PCS

3ft:8PCS

4ft:10PCS

5ft:12PCS

6ft:12PCS

8ft:14PCS

Nut
  M5*3  X2

59.80''

1519mm

Rivet nut 
M4  X2

X2

B)Install the
Aluminum Frame.

A)Install the Rivet nut.

Pa
y 

at
te

nt
io

n 
to

 th
e 

di
st

an
ce

.

The ceiling.

C)Reinstall the screws for the
mounting plate and the base screws.

E)Reinstall the optic or the opal lense,
done.

24.37''

619mm

36.18''

919mm

47.99''

1219mm

71.61''

1819mm

95.24''

2419mm

59.80''

1519mm

Installation Instructions

LED Linear Architectural

2462 E 28th Street, Vernon, CA 90058 USA 7/7


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书001
	图纸和视图
	模型


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书002
	图纸和视图
	模型


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书003
	图纸和视图
	模型


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书004
	图纸和视图
	模型


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书005
	图纸和视图
	模型


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书006
	图纸和视图
	模型


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书007
	图纸和视图
	模型


	601A-(V3.2外露拨码)(双排透镜款)单三四色温(倍祺)彩色安装说明书008
	图纸和视图
	模型





